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 
 

33             320112012 
 

 
 

– 2
2 8S O 

I  2 2
2 8( ) 4( )aq aqS O SO  2( ) ( )aq aqI I  

 1 40V mL 2
( ) 2 8( )2 ,aq aqK S O 

1 1
1 10 .C mol L  0t 2 60V mL

 ( ) ( ),aq aqK I 1 1
2 1,5 10 .C mol L   

                G
 

1   
 

2   
 

3xt 
 




xV 
4G

 2 2
1 2 8 2 3 4 4G K S O I SO K                        

iK
SK
L

  
 

 

Gx 1 .G A B x
V

  

1,9 .A mS L142 . .B mS L mol  
5tG

60t s 

6maxx 
7 

 
 
 
 
 
 
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 

      2 2 4H C O4( )aqMnO 

1 50V ml1S1
1 0,18 .C mol L

2 50V ml2S1
2 0,08 .C mol L 

1   2
2 2 2 4 4;CO H C O MnO Mn  

 
2 

3maxx 

42COx 

2CO 

750 500 400 300 250 200 150 100 50 0 ( )t s 
200 170 154 132 120 104 86 64 36 0  

2COV ml 

          4(10 . )x mol 

5125 .MV L mol  

6( )x f t41 10 .cm mol1 100cm s 

71 0t s2 250t s 

82
( )aqMn  

 
 

226
88Ra 

1226
88Ra. 

2A
Z X 

90 89 87 86 85 84 83 82, , , , , , ,Th Ac Fr Rn At Po Bi Pb 
3 

mA
Z XXm 

  Rau 

  ( )lE Ra
( )lE Ra
A

 

         Rn   u     

( )lE Rn
( )lE Rn
A

 

 86 88,Rn Ra 

411 11,36 10 s    

226
88Ra 

51mg226
88Ra0t  



  
 3  3 

 

90 
 

6 206
82Pb 

 226
88Ra206

82Pb 

4 222 226
2 86 88( ) 4,001 , ( ) 221,970 , ( ) 225,977m He u m Rn u m Ra u   

21 931,5 , 1,009 , 1,007 , ( ) 28,29n p l
Mevu m u m u E He u
c

    

 
1 

11 11
6 5 .....C B 139 139

55 56 .....Cs Ba 210 206
84 82 .....Po Pb 60 60

28 28 .....Ni Ni   

2210
84Po 

226
88Ra

7,66MeV 

210 8 1
84( ) 209,982 , 1,009 , 1,007 , 3 10 .n pm Po u m u m u c m s      

3  226226( )Ra 
238 

    238U 
 

   ( , )N Z
   A Z  

  

238    222( )Rn
 

4    226
1

2
1600t ans 

226 

 1ans 1s  

5 A 

 226  0m  0A   0m0, ,AN A

M 

 0m103,7 10 Bq 
 

238U1
2

94,47 10t ans 23 16,02 10AN mol  ( ) 226 /M Ra g mol 

 
 

 
 
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 1

 
20112012 

  
 

1 

 2 2: 2 2I I I I e    

 2 2 2 2
2 8( ) 4( ) 2 8 4: 2 2aq aqS O SO S O e SO     

22 2
2 8( ) ( ) 4( ) 2( )2 2aq aq aq aqS O I SO I     

3 
    

 
2 2

2 8( ) ( ) 4( ) 2( )2 2aq aq aq aqS O I SO I      

 
  

 0x   01n  02n  0 0 

 ( )x t  01 ( )n x t  02 2 ( )n x t  2 ( )x t  ( )x t  

 fx  01 fn x  02 2 fn x  2 fx  ( )x t  
 

3 
2 3

0 2 4 1 1( ) . 4 10n S O C V mol   3
0 2 2( ) 9 10n I C V mol   

0 1 1 2 2( ) 2 0,017n K CV C V mol    
3 3

2 2
2 8 4

4 10 9 10 2 2 0,017, , ,x x xS O I SO K
V V V V

 
                        

4G 1 .G A B x
V

  

 2 2
1 2 8 2 3 4 4G K S O I SO K                        


3 3

1 2 3 4
4 10 9 10 2 2 0,017x x xG K

V V V V
   

     
    

 
 

   3 3
1 2 4 3 2 1

1 4 10 9 10 0,017 2 2 .
BA

G K K x
V

      
 
          
 
 




 1 .G A B x
V

  

5
1 .vol
dxv

V dt




 2

 1 .G A B x
V

 
dG B dX
dt V dt


dx V dG
dt B dt



1 1
vol

V dG dGv
V B dt B dt

   
 

 

60t s 

5 1

60

1,24 10 .
t s

dG S s
dt

 



  

 
 

4 4 1 1
(60 )

60

1 2,95 10 3 10 . .vol s
t s

dGv mol L s
B dt

   



      

62 3
max 0 2 8( ) 4 10x n S O mol    

7 

 1 .G A B x
V

  max max
1 . 20,68G A B x mS
V

   

165t s 
 

 
1 

2
4 28 5 4MnO H e Mn H O      

2 2 4 22 2 2H C O CO H e   

2
4 2 2 4 2 22 5 6 2 10 8MnO H C O H Mn CO H O       

2 


    
2

4 2 2 4 2 22 5 6 2 10 8MnO H C O H Mn CO H O        

 
  

  0x   01n  02n   0 0  

 ( )x t  01 2 ( )n x t  02 5 ( )n x t   2 ( )x t  10 ( )x t   

 fx  01 2 fn x  02 5 fn x   2 fx  10 ( )x t   

3maxx 

4MnO 302
02 max max2 0 2 10

2
nn x x mol      

2 2 4H C O301
01 max max5 0 1,8 10

5
nn x x mol      

2 2 4H C O3
max 1,8 10x mol  

42COx
2

10 ( )COn x t 
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52

2

1( )
10 10.

CO
CO

M

V
x t n

V
  

750500400300250200150100500( )t s 
2001701541321201048664360 

2COV ml 

8,006,806,165,284,804,163,442,561,4404(10 . )x mol 
 
 
 
 
6( )x f t 

 
7 

5 1 1

0

1( 0) 8 10 . .vol
t

dxv t mol L s
V dt

  



     
 

 

5 1 1

0

1( 250 ) 1,08 10 . .vol
t

dxv t s mol L s
V dt

  



     
 

 

82Mn :  
 

2
2 1 ( ) 1( ) 2 2vol vol

dn Mn dxv Mn v
V dt V dt


      

 
2 5 5 1 1

0( ) 2 8 10 16 10 . .vol tv Mn mol L s    
      

2 5 5 1 1
250( ) 2 1,08 10 2,16 10 . .vol t sv Mn mol L s    

      
 

 
1226

88Ra8888Z  138138N A Z   

2226
88

A
ZRa X    

226 222
88 86Ra Rn    

3lE.  

Z
A X  ( )A

P n Zm Zm A Z m m X       

226
88Ra  226

8888 138 ( ) 1,881P nm Ra m m m Ra u       

226
88Ra226 2

88( ) . 1752,1515lE Ra m c Mev  .  

 226
86 7,75lE MevRa nucleonA

.  

 Ra :  1,856m Rn u   و  7,79lE MevRn nucleonA
 

Rn 

0 100 

 1 

4(10 )x mol
 

( )t s  
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41
2

t 10: بالثانیة ثم بالسنوات
1

2

2 5,07 10 1607lint s ans


   .  

590 
 

.( ) (0) tm t m e   90الزمن الازم لتفكك 
  10أي بقاء 

 من كتلة العینة الإبتدائیة.  

.10 10( ) (0) (0) .
100 100

tm t m m e lin t      

111,69 10t s   

6  
226 206
86 82 .Ra Pb a b     


226 206 4 5
88 82 2 4

a a
a b b

   
     
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